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n
6 = B
N
‘6 = Y30 —30
‘ n
\&n - 560
\G3n - R = X0
- Bn= -2%0°
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@ 3x+10°
Ux-98 I+ \

qﬁ%ﬁ'\;&(&ﬁ + 8X+£ = |0’

qx@:\g\g’

Ix = \80- 12
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@ n=1l S= 180 (n-9)

S= 150 (11-9)
o= & (@)
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find ZRTQ =777
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‘Multiple Choice
Identify the choice that best completes the statement or answers the question.

_tl 1. Which statement about the angles in this diagram is false?

162°
s

a. Za=sev (Ner¥icall OF‘P“EH:)
Ze=se% (FALSE) Y

C. ZLd=/rbv (Cnrr:spondt'ﬁs)

d. Lb=Lfy (\JC.TJFICQ'HY GPPGE""Q)
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Tederior 3. Atrernate
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b 4. Which are the correct measures of the indicated angles?

a. Zw=146°, Lx=44° Ly = 146°
® 2w=134°, Lx=46°, 2y = 46°

C. Zw=136, Lx=44° Ly =136°

d. Zw=116° Lx=64° /Ly =64°
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Which are the correct measures for 2 YXZ and ZXZ}?

180-5]%52°

z

\%00" 2

LYXZ =52° LXZY = 87°
LYXZ = 62°, LXZY=77°
d. ZYXZ=62° LXZY=87°

W

@ <£YXZ=52°, £xzY=17°
b.
C.

October 06, 2015
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d_. 6. Which are the correct measures for ZDCE and ZCAB?

a. ZDCE=75° LCAB = 55°
b. ZDCE = 65°, ZCAB=50°
¢. ZDCE=175° ZCAB = 66°
(@) 4DCE=55°, £CAB=61°

October 06, 2015
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©

7. Which are the correct measures for ZOJK, ZJKO, and ZJOK?

a. LOJK=102°, ZJKO=28° and LJOK = 50°
b. ZOJK=152° £JKO=18° and £LJOK=10°
© Z0JK=117°, LJKO=28°, and LJOK = 35°
d. Z0JK=117° £JKO =36° and ZJOK = 37°

October 06, 2015
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d__ 8. Which are the correct measures of the interior angles of ACDE?

f

79° E

D

101° 157° 5
L

&

a. /DCE=46°, ZCDE =101°, and ZCED = 33°
b. ZDCE=32°, ZCDE = 83°, and ZCED = 65°
c. ZDCE=176° ZCDE =91° and ZCED = 13°
(@) £DCE=56°, ZCDE=101°, and ZCED = 23°
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&

4
9. Determine the sum of the measures of the interior angles of this polygoria

S=180(n-2,)
8: 1%0(.\\'"2)
S= 180(9)
Si= k208

a. 1080°
b. 1260°
© 1620°
d. 1440°
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h 10. Determine the sum of the measures of the angles in a 16-sided convex polygon.

a. 2700° S= \%O(Y\"?—)

5 g S=186(16-2)

d. 2880° S = l‘SO(\"JT)
d_ > S = QOS?.OG

. Each interior angle of a regular convex polygon measures 162°.
How many sides does the polygon have?

Eo.ch interior cxns\.l:: = @9"(}?‘#2’)

16

o 3
P 162°= 186(n~2)

a.
b.
c. N
g 162°N = 180N -360
162°n - 180°n= - 360°
=l 8= ~S60s
-1g° — L
n=20
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> X 12. Determine the value of 4.

@chh internor D.ﬁs'.t= ’-_SOQ(.T']:_Q_.)

™M
E- = 180°(5-2)
36° 5'( )
;. Sa0 e °
e @ d=180>-172%-12° L%C’S 2
d = "36‘, - &oga
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Short Answer

13. Determine the values of a, b, g

h?a

b
lc

we. Supplementary  (Sxrsspanding,

Fax la=180° Ba =
\oa= 130" 308%)=b
Fors 4l O 54°=b

a= 18"

Vertically OpROSUIS
W__.r"“--_-

'D::Q_,C.‘
SHEsZ<
Lﬂ

)Y e
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14. Determine the mcas.)f ZRTQO.

R

5

October 06, 2015
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16. Determine the value of x.

3X+TO +2%x+30°+H4%-28°=180°
Qx +72,° = 180°
q-;(‘: '180'3‘72_:
qx= 108"
a9,
g xX= 12

A1
17. Gareth is measuring the exterior angles of a convex hexagon.
So far, he has measured 60°, 607, 60°, 30°, and 30°.
What is the measure of the last exterior angle?

Show your calculation. ‘\’f} st exteriora ﬁS‘n c
Ly 360-60-60-60-30%30°
R — (eia’
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18. PROOF

Prove: AC|| ED

155" | Given

AC :ll ED E:_.CL\.AGE A\ rernare
Interior /sinalc_s

21
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